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This is a closed book exam.

The test package includes a test paper (this document), an exam booklet, a formula sheet, a scratch
card and an OMR sheet. The test paper consists of 8 pages, including this cover page. It is the
responsibility of the student to check that the test paper is complete.

Only a basic scientific calculator (e.g. Texas Instruments TI-30X series, Hewlett-Packard HP 10s or

30S) may be used. Graphing or programmable calculators, or calculators with communication
capability, are not allowed.

Enter your name and student number on the cover of the test paper and check the appropriate box for
your lecture section. Also enter your name on the exam booklet and scratch card.

5. Enter your name and NSID on the OMR sheet.

The test paper, the exam booklet, the formula sheet, the scratch card, and the OMR sheet must all be
submitted.

No test materials will be returned.
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Physics 117.3 Midterm Exam
February 15, 2018

PART A

FOR EACH OF THE FOLLOWING QUESTIONS IN PART A, ENTER THE MOST
APPROPRIATE RESPONSE ON THE OMR SHEET.

Al. A U-tube is partially filled with water. Mercury (which does not mix with water) is then added
to the right side of the tube. The top of the mercury is a distance &) above the level of the

B interface between the mercury and water. On the left side of the tube the top of the water is a
distance /2 above the level of the mercury-water interface on the right side. What is the density
of mercury, pug, in terms of the density of water, pw?

(A) pngile\p (B) pHg=£pw _’_l’-_pw
& i R =
(D) Py =—2—p, E) p ==, AP
Hg hz—h1 w Hg — h—, h| ah+Pw ﬂl\z_

/Du()f’w

A2. Two solid objects of identical mass are placed in a container that is filled with an
liquid. One object floats and the other sinks to the bottom. Which one of the followmg 1s a true

B : iects? . m
statement concerning the volumes of the objects? C . /Ds 7 /9,0 = M > __.g => V‘F >\,Is

(A) Both objects have the same volume. Vs
(B) The floating object's volume is greater than the volume of the object that sinks.
(C) The floating object's volume is less than the volume of the object that sinks.
FLonTer (D) Nothing can be said about the volumes without knowing the densities of the objects.
T (E) Nothmg can be said about the volumes w1thout knowing the density of the unknown liquid.

% ! r‘aw ,01 Ves = /OF 9 ‘1 S UBMERGED *
- - < F qras
B F’jm“ B mtj / \lchS'(\l'F = &>ID‘¢ %13V5</59V5‘7P57/oﬂ

A3. Anideal fluid flows through a pipe made of two sections with diameters of 1.0 cm and 4.0 cm,
respectively. How is the speed of the fluid flow through the 4.0-cm section, uvy, related to the
speed of the fluid flow through the 1.0-cm section, v|?

(A)v4=Ilgvl (B)U4=%ul (C)vq"—'%w (D)v4 4 (B) wm=16m

Gontinit shon : A= Ayly ) U' i JOr.cf: U
ATinuITy E‘i“ (Al)lzu"=1r(d4)zu (o'z,) J :,:,bu_) t

AZ. 4 Which one of the followmg quantities is at afrnax1mum?:when an object in simple harmonic

motion is at its maximum displacement? mngm
A (A) acceleration (B) speed (C) momentum
(D) kinetic energy (E) frequency

=3 o 2 o
At max. desplacemend, U =0 2 MU amd KE = émc' oe adso O

[5
72k = |2 .
Pr‘uszoy is constand a ¥ % 2> [&] is MaE
when %) is max.
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M5 A rectangular block has dimensions A, £ and w, as shown in the diagram below. If a force of

magnitude F is applied parallel to the top surface of the block, which one of the following
expressions is correct for the shear stress exerted on the top surface of the block?

: VLI W S
e Stess - Apotied A
h
w
4
F F F F F
A) -5 ® — © - @) & E

hor ?'"d'"’.

A6. Due to a build-up of sludge, the effective radius of an,0il pipeline becomes half the original
radius. To compensate for this reduced radius, the pipeline operator increases the pressure
E difference across the length of the pipeline by a factor of four. If Q is the original volume flow
rate through the pipeline, what is the new volume flow rate, (s, in terms of 01? ( " does not

(A) Q=40 ® =20 © 0:=0 change)
(D) Q=% 0h (E) Q=" y
Q= R (Po), Q.- R (F2), _ vr(R»'{z) (/'f(Pl"’z):): 4 wR, (AP,
TRl 0 G2t e T 6 EL
A7. If one could transport a simple pendulum of constant length from the Earth’s surface to the -}}Q |

Moon’s, where the acceleration due to gravity is one-sixth (1/6) of that on Earth, by what factor
C would the pendulum frequency be changed?

(A) fu ~6f€ (B) far 2.5/ O fiu=041fc D) fu=~017c  (E)fu=3.5k

R R R LR ET

A8. Which one of the following pairs of quantities do you need to know in order to calculate the
wavelength of a travelling wave? O,ZH 'FE

(A) frequency and period  (B) speed and amplitude (C) amplitude and frequency
(D) frequency and speed (E) period and amplitude

U‘=P)\">)\=%—

A9. The speed of a wave in a stretched string is initially 50 m/s. What will be the new wave speed if
the tension in the string is increased by 18%?

B (A) 50 m/s (B) 54 m/s (€) 21 m/s (D) 59 m/s (E) 45 m/s

- /h F, r
G= /= s [ 2 U e [
yr 2] & y ! #-J.OSGW.
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A10. How is the direction of propagation of an electromagnetic wave oriented relative to the directions
of the associated electric and magnetic fields?

Y > =

(A) parallel to the magnetic field, perpendicular to the electric field UL BLlE
C (B) perpendicular to the magnetic field, parallel to the electric field R Y
(C) perpendicular to the magnetic field, perpendicular to the electric field g L 6} E

(D) parallel to the magnetic field, parallel to the electric field
(E) parallel to the magnetic field, anti-parallel to the electric field

All. Itis observed that the air in a pipe resonates at frequencies of 120 Hz (the fundamental) and 600
Hz, and possibly other frequencies between these two values. If the pipe is open at both ends,

A how many additional resonant frequencies are there between 120 Hz and 600 Hz; and if the pipe
is open at one end and closed at the other, how many additional resonant frequencies are there
between 120 Hz and 600 Hz?

(A) open: 3 ; closed: 1 (B) open: 1 ;closed: 3 (C) open: 2 ;closed: 0
(D) open: 0 ; closed: 2 (E) open: 5 ; closed: 1 \l? . {RoHz ,AoHz2 4ae,
: opes ' q&gﬂe booHZ
'Popem‘ oM hormonics ; E_J-os&d odd harmanics = !
£ et 120Hz2, 360Kz, LOOHE

A12. [fthe tension in a guitar string is increased by a factor of 3, by what factor does the fundamental
frequency at which the string vibrates change?

1 i
(A) 9 N (B) 3 © 3 (D) N € 5
LS TN p. UL L [EL gL B
: TZ2M =y w ) ToL) &
WORK OUT THE ANSWERS TO THE FOLLOWING PARTBQUESTIONS. _P'/____ Jé ér[ﬁ) :'J-z-‘ﬂ

WHEN YOU HAVE AN ANSWER THAT IS ONE OF THE OPTIONS AND ARE CONFIDENT THAT YOUR METHOD
IS CORRECT, SCRATCH THAT OPTION ON THE SCRATCH CARD. IF YOU REVEAL A STAR ON THE
SCRATCH CARD THEN YOUR ANSWER IS CORRECT (FULL MARKS, 2/2).

IF YOU DO NOT REVEAL A STAR WITH YOUR FIRST SCRATCH, TRY TO FIND THE ERROR IN YOUR
SOLUTION. IF YOU REVEAL A STAR WITH YOUR SECOND SCRATCH, YOU RECEIVE HALF-MARKS (1/2).

IF YOU STILL DO NOT HAVE THE CORRECT ANSWER, BUT REWORK YOUR SOLUTION AND REVEAL A
STAR WITH YOUR THIRD SCRATCH, THEN YOU RECEIVE (0.2/2.

REVEALING THE STAR WITH YOUR FOURTH OR FIFTH SCRATCHES DOES NOT EARN YOU ANY MARKS,
BUT IT DOES GIVE YOU THE CORRECT ANSWER.

YOU MAY ANSWER ALL FOUR PART B QUESTION GROUPINGS (1-4, 5-8,9-12, AND 13-16) AND YOU
WILL RECEIVE THE MARKS FOR YOUR BEST 3 GROUPINGS.

USE THE PROVIDED EXAM BOOKLET FOR YOUR ROUGH WORK.
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Bl. A large storage tank is open to the atmosphere at the top and filled with water. What is the gauge
pressure at a depth of 8.00 m below the surface in the tank of water?

PZ - P’ * PS(Y',YZ) szaujez PZO!A:S::'U“‘C_- Pa:h"
= Pin tpgh Prguge =@t P9y )~ Fan = £37
Pzaw = (1.00x 10°15,/,3 Y(9.80 /52 (B 00m) = { 784 «10'P,

The tank develops a small hole in its side at a point 16.9 m below the surface of the water. The rate o
flow from the leak is 2.60 x 10~* m*/minute.

B2. What is the pressure just outside the small hole in the side of the storage tank?

P,

atmospheric pressure

‘ |

-2 3
/16 9m Q = 2.60%10 “m
s imste

2 o

B3, Calculate the speed at which water leaves the hole. Assume that the surface area of water that is
open to the atmosphere at the top of the tank is much larger than the area of the small hole.

Aﬁ:ly Beronlli’s beharean the dop of the tambe amd the hole
Bt 2put s pan = b sputepgr 5 0= 0= b
Continsiby Equebion™ A= A, ; given A7A, = U, €02

- sek ;= 0.
k9% = Lpe

0, ‘W :JLZ(Q,?Om/szle.qm)' =

B4. Calculate the radius of the hole.

— 2

.
r, = _9__ =((;)'EOX|O—3N%|%X, m""/éog)>2

2
T, T (18.2m/s)
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B5. Which one of the following statements correctly describes the type of force necessary for simple
harmonic motion (SHM) to occur?

SHM occurs for any restoring force whose magnitude is proportional to the magnitude of the
displacement from a point of stable equilibrium.

A vertical, massless spring is attachedyto the ceiling and is initially relaxed (neither stretched nor

compressed). A block of mass m = 1.0 kg is now attached to the spring and gently lowered (stretching
the spring) until the mass is at rest at its equilibrium position. When the mass is hanging at rest at its
equilibrium position the spring is 1.70 cm longer than its relaxed length.

B6. Calculate the spring constant. e
e sF=0

+\(_'xo= ma
_E_ v Fopriny = g (10kgYXARON) ) opy iy,
. 5[ gis ?qrnv Lo (I ?Omxlm/looav) :

A;’ you know from lab M19, a vertical mass-spring system will oscillate in SHM. Suppose that the

1. IO-kg mass, initially at rest at its equilibrium position, is pulled down a distance of 6.00 cm and
released.

B7. Calculate the period of the oscillations of the mass-spring system.

/2 ' _ m
T m~>T'2“k_
ot oft Hhe

g™

B8. Calculate the force exerted by the spring when the mass is at its maximum height.

At mox. ’nexald', Hhe enass will LE‘ |
r—J.acfﬂA imww 6.00cm aba\re i“"; e‘%\]l”bfl‘m PQSI"'N

1) \n::a ass The spf‘lﬁ& will tHeefre be
ixo f Compressed o duistomee A—x, = X
ToTTut R = 600 I.70cn = 4,30
i 21 Ll
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February 15,2018 - U= 33lmfs [ == = 343,/

On a completely calm day, when the air temperature is 20.0°C, two people are in a stationary hot air
balloon at an altitude of 595 m. A small plane is approaching the balloon, at a constant speed of
224 km/h. The frequency of the sound emitted by the engine of the plane is 155 Hz.

B9. Which one of the following statements correctly describes how the intensity and frequency of the
plane's sound is perceived by the balloon's occupants as the plane approaches?

The frequency is constant at a value greater than 155 Hz, and the intensity increases, as the
plane approaches.

B10. When the plane is at a distance of 5.00 km from the balloon, the intensity level of the plane's
sound, as heard by the occupants of the balloon, is 60.0 dB. What is the intensity level heard by
the balloon's occupants when the plane is at a distance of 0.500 km?

p=TA= IA - IA—>I4rrr2-I1hrr = I,° I(‘_)

IZ: I| 5:001““) = IOOII 1; (s a Tachor of 100 = ’O hrenes Il

0.500 ke S B is 2x1048 jreakr thoa £
40.0dB+ 20,048

B11. Calculate the intensity of the plane's sound, in W/m?, at the location of thezBalloon when the plane
is at a distance of 0.500 km. ﬁz = §£0.0d8
Poas

/3,7 1048 log.o(i'-f'-) = I,=TxI0

36.048 -
I = (l,oouo"zw/MZ) /0 " hods - 1,00 x 107* W/, 2

B12. Calculate the change in the frequency of the plane's sound, as detected by an occupant of the
balloon, between when the plane is approaching the balloon and when the plane has passed by the

balloon and is moving further awa
- v U IU;' = 224 l(n l__b- X [____OUON
ma\mj Souvren. -F = ﬁ S — X
0 s \U—Usx

8 3¢dos lemm
bd.2m/s
A=-£ - f Ly __l_ )
OpproarJ- Oy "'U'S U;away

AF = (155K 343ws) 3 —(+ 6220/ 3U3mfs - ( 62, 2m/s)>
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B13. Consider two pipes of equal length. One pipe is open at both ends and the other pipe is open at
one end and closed at the other. How do the fundamental frequencies of the two pipes compare?

In: £
l)\{ }J')\ l(; J.(u-)

Now consider two identical pipes. Both pipes are open at one end and closed at the other. ,'ZF 4 P

Bi4. The two pipes are separated by a distance of 6.00 m and both are producing sound at the
fundamental frequency. A listener is initially standing in a position such that she is 5.00 m from
each pipe. The listener then moves a distance of d = 0.629 m along the line shown in the diagram,
and she is now at the first position of destructive interference. Calculate the wavelength of the

sound being produced by the pipes.
2.,00m

Nt = N7 2(n0)

note +hat 2 =(5, oom)z—(a.oo«\)z > y= 4.00m
r =j3.00m )+ (/'LOOM)?"‘-'— 445 m
(= [Boomrdy +E.0om)? = 540w

)\ = Z(SrLme - 4. éS-m) =
B15. Calculate the length of each pipe.
From He wark S L 6|3, = Zlf_>\c,: JL;(I,SOM)‘-

B16. If the air temperature in one of the pipes increases to 26.0°C, and the air temperature in the other

pipe remains at 20.0°C, calculate the beat frequency that is heard when both pipes are producing
sound at their fundamental frequencies.

Upon = (33lm)s)/ 293k 343,

s . 0, = (331m/5) 9"" = 34b po),

f&d: If,-% 1 - lu'% - U}; I : 150 (3%‘4“]/5 3430s)

END OF EXAMINATION @: 2.3 !D
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